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6. Explain need-drive-incentive fo ,
- ] rmula. Present
a Q..Eom.H explanation of Atkinson’s theory mp“w PSYCHOLOGY
attribution theory of achievement motivation. ﬁuw._w_m_._n—
~ 10+15+15=40
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7 . , Full Marks : 200 Time :3 hours
. Describe the factors that influence qufe . 200 gy ;3 HR

development and formation of attitude. Make

@ -comparati of N . s
parative study of Thurston’s method The figures in the margin indicate full marks

and Likert’s method of attitude asses
‘assessment. s & quts Ry 7T &
20+20=40
Fghy & Fmin @@ fwm w wwkh =3 9 st - Candidates are required to answer five questions
w1 A HIR | TR T oot R o Rl . in which Question No. 1 is compulsory
fafy =1 gemers sterm AR qhenfidt @ oter vt F W A E, fed
, . b . W@ den 1 el §
8. Huwmmmu.: a critical Qa&mb,m&ob of the ‘ _
following : 20+20=40 1 1. Explain any four of the following (word
Frafeafaa it s = ren fiRkE - , limit 200 for each question) : 10x4=40
(@ Maslow's h i | Prfefiae # ¥ fredl ww # e AR (J9F T
: umanistic  theo f .
personality | y o | ¥ forg w2 @ 200 fuffa #) :
I g wiTia safre ®1 arEaEd g (aq) Emerging fields of psychology
(b) Bandura’s social learning theory of , TAREE % IR &
psychological

(b) Difference between

personality ,
I T WRwifen =fea w1 "R e ‘ m measurement and physical measure-
frgT ment
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